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Roil No. ’ ] [ l 1 [ ’ Answer Sheet No. - j}/
o /
Sig. of Candidate, Sig. of Invigilator. ]
BIOLOGY SSC-!

SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compuisory. Ali parts of this section are to be answered on the question paper itseif.
it shouid be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deieting/overwriting is not allowed. Do not use iead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carrles one mark.
(i) The percentage of proteiﬁs in chicken is
A 15 % B. 20% cC 25% D. 30%
(ii.) Which of the following is the Energy producing centre of the cell?
A Centricles B Vacuole C.  Mitochondria D.  Ribosomes
(i) ATP molecule was discovered in
A 1931 AD B. 1930 AD C. 1928 AD D. 1929 AD
(iv) Which of the following is a Macronutrient?
A Sulphur B. Iron - C Zinc D. Copper
() Which of the following organs of our body destroys old Red Blood Cells (RBCs)?
A Lungs B. Heart C Liver D. Kidney
(vi) Pancreas releases digestive enzymes into
A Duodenum | B. Colon C. Liver D. Gallbladder
(vii) By which process does the Gaseous exchange in lungs occur ?
A ‘Osmosis B. Diffusion C. Filtration D. Active transport
(vii) . The study of internal structures is qélled .
| A Histology B - Pﬁysiotogy C. Anatomy D. Taxonomy

- (ix) .. Which gas is produced as a by~'product during photosynthesis?

A Hydrogen - B. - Oxygen cC. Nitrogen' : D CO,
(x) - ACentroépme,consists of . -centricles. ‘

A 2 B 4 c. 3 D. 1
(xi) The light rays'of whiéh wavelength are absorbed maximum by chiorophyli? |

A Gréen and Blue i B. Green and Red’

C.  Greenonly ‘ D. Red and Blue

(xii) = Which of the following veins carry blood from Kidneys?

A (_Benitél vein B. Hepaticve'm C. Renalvein ~ D. None of these

For Examiner’s use only:

Totai Marks: E
Marks Obtained:
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BIOLOGY SSC-I 35

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’' on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.
SECTION — B (Marks 33)
Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)

(i) What happens in the S-phase of cell cycle?
{ii) How does Anabolism differ from Catabolism?
(iii) Write down the role of Chlorine and Nickel in plant iife.
{iv) What are Bicelements?
(v) Briefly write the Colonial type of cellular organization.
(Vi) How does Alcoholic Fermentation occur?
{vii) Define the following:

a. Entomology b. Taxonomy
(viii)  Wirite down the functions of the foliowing:

a. RBCs b. Platelets
{ix) What is the rate of normal Heart Beat in humans?
{x) What do you mean by Bypass Surgery?
(xi) Differentiate between Voluntary and Involuntary Muscles.
{xii) Name the types of Plastids.

{xiii}  Write a short note on Necrosis.
(xiv)  How does the concentration of (O, affect the process of photosynthesis?

{(xv) What does the word Malaria mean?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 a Explain the various types of Permanent tissues of plants. (06}
b. Discuss Fiuid-Mosaic Mode! of Cell Membrane. Aiso draw its diagram. (04)
Q.4 Define Mitosis. Explain the phases of Mitosis with the help of a diagram. (10}
Q.5 a. Define Transpiration. Explain the factors affecting the rate of Transpiration. (06}
b. Write down the status of Virus. (04)

Biology Annual 2014 —_1SA 1410 (L) — 4
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Roll No. l [ | Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: €action-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(0

(Vi)

(viii)

(ix)

(x)

()

(xit)

Which chemical is present in the cell wall of Fungi?

A Celiulose B. Chitin C. Glucose D. Protein
Who discovered nucleus in the cell?

A Schwann B. Rob'ert Hooke C. Robert Brown D. Schleiden
Lack of iodine in the diet causes

A. Goitre B. Marasmus C. Anaemia D. Kwashiorkor
Which cell organelle help in the formation of spindle fibres?

A Ribosomes B. Vacuoles

C. Golgi apparatus ' D. Centrioles

The microscopic study of tissues is called

A Cell biology B. Histology C. Physiology D. Morphology

The percentage of lipids in Rice is

A 4% B. 0.1% C. 3% D. 0.5%
The cell cycle consists of maior phases.
A 3 B. 4 C. 2 D. 5

Scurvy is caused due to the deficiency of Vitamin

A D B. K C. A D. c
Thalassaemia is a disease of

A Blood B. Bones c. Heart D. L.ungs
Almost all the Enzymes are

A Carbohydrates B. Protein C. Lipids D. Nucleic acids

What type of movement of molecules requires energy?

A. Diffusion B. Osmosis C. Filtration D. Active transport

Plasmodium in the blood causes

A Malaria B. Typhoid C. Cholera D. Tetanus

For Examiner's use only:
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BIOLOGY SSC-I ([

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 = 33)
(i) What do you mean by Biodiversity?
(i) What is the difference between Botany and Zoology?
(iii) How does cell work as an open system?

(iv) Define the following:
a. Karyokinesis b. Cytokinesis

(v) Name any three types of epithelial tissues.

(vi) Name any two diseases caused due to the deficiency of Vitamin-D.

(vii) Write a short note on Nervous tissue.

(viii)  Write down the significance of Mitosis.

(ix) What is the importance of ATP molecule?

(x) How is the over-intake of Nutrients harmful for us?

(xi) What is the average life of an RBC?

(xii) Write down the role of the following minerals in our body:
a. Iron b.  Chormium

(xiii)  Write down the scientific names of the following organisms:
a. Mustard b. Frog

(xiv)  Write down any three characteristics of a good Hypothesis.

{xv) Draw a labelled diagram of a general prokaryctic cell.

SECTION — C {(Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 Explain the role of Stomach and Small intestine in the process of digestion of food. (10)
Q.4 a Explain the process of Mechanism of photosynthesis. (06)
b. Write the uses of Enzymes. (04)
Q.5 a Explain five kingdom system of classification. Also draw diagram. (06)
b. Write a note on Mitochondria. Also draw its diagram. (04)

Biology Annual 2014 —— 1SA 1410 (ON) —— 8
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Roli No. [ T ] T l I | Answer Sheet No. O (\/
Sig. of Candidate. Sig. of Invigilator. v
CHEMISTRY SSC-1
SECTION ~ A (Marks 12)
Time allowed: 20 Minutes . Revised Syllabus
NOTE: Section-A is compuisory. All parts of this section are to be answered on the question paper itself.
It should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.
Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

Gy

(ii)

(iii)
(iv)
v)

(vi)

(vii)

(i)

(ix)

Ax)

(xi)

(xii)

For Examiner’s use only: -

A compound-with chemical formula  Na,CX;- has formula mass 106 amu. Atomic mass of
the element X is
A 106 B. 23 C. 12 D. 16

The electronic configuration of an element is 1.92,232 . An atom of this element will form an ion that wilt
have charge.

A +1 B. +2 C. +3 D. -1
M shell has sub-shells.
A 1s, 2s B. 2s,2p C. 3s, 3p, 3d D. 1s, 2s, 38
Which of the following elements has greater shielding effect?
A Li B. Na C. K D. Rb
In the formation of A/F;, Al atom loses electrons.
A 1 B. 2 c. 3 D. 4
Consider the following data:
L§r. No X Y X1y

1 1.00 273 0.0037

2 1.37 373 0.0037 -

3 173 473 0.0037

4 2.10 573 0.0037

Which of the following relationships does the above table represent?

A xecy B. x=y C. xocl 2} x =
A solution of NaOH has a concentration of 4g/ dm® . What i€ the mass of NaOH céntained in
250 em’ of this solution?

‘<!~

A. 409 - B. 20g C. 19 D 29

Which of the following elements in the given reaction is reduced: ZnO+ H, -> Zn+ H,0

A H, . B. ZnO . C . Zn D. 0 '
- Galvanizing is coatkg with ’ g ’ _

A sn-, ' B Zn c. ¢Cr - D Cu

Which of the followmg is an amphoteric oxide? BT . Lo

A -Na,O B. " 4L0, c. . MgO p. - SO,

S|I|con belongs to group VA It has . _ electrons in the valence shell.

A 2 B. 3 C. 4 - D. 6

The branch of Chemistry that deals with substances containing carbon is called _

A inorganic Chemistry B. " _ Physical Chemistry

C. Industrial Chemistry i D. Organic Chemistry . .

Tc;tal Mari(s: | ‘_ IE
[ -]

Marks Obtained:
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Roll No. Answer Sheet No.
Sig. of Candidate: Sig. of Invigilator:
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CHEMISTRY SSC-I
Revised Syllabus

§b

Total Marks Sections Band C: 53

IOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

()
(xii)
(xiii)

{xiv)

(xv)

iote:

Attempt any TWO questions. All questions carry equal marks.

SECTION — B (Marks 33)

Differentiate between the following:

a. Atom and lon : b. Molecular ion and Free radical
Calculate the mass of 3.24x10"® atoms of Iron.

Define Mixture and Compound.

Differentiate between Shells and Sub-shells.

Define lonization Energy. Write the trend of lonization energy in group and period.
Define Isotopes. Draw atomic structures of the Isotopes of Carbon.

Explain briefly the formation of Covalent bond between two Nitrogen atoms.

Describe briefly the formation of Mg** and Na* cations.

The boiling point of water on the top of Mount Everest is 70°C while at Murree it is 98° C .
Explain the difference.

(11x3=33)

The following table shows data of volume of a gas and its temperature for the given mass of a gas at

800 mm Hg:

Temperature — Volume data for a gas at 960 mm of Hg
Temperature (°C)| 0 5 10 15 20
1079 | 109.7 111.7 | 1136 | 1155

Volume (cm3)

Explain volume-temperature relationship using Charies's law.

Differentiate among Saturated, Unsaturated and Supersaturated solutions giving one example of each.

Define Oxidation and Reduction processes in terms of loss or gain of electrons.
Define the following properties of gases:
a. Diffusion b. Effusion

Urea (( NH . ),C O)) is a white solid, used as fertilizer and starting material for synthetic plastic.

A solution contains 40 g of urea dissolved in 500 cm’ of solution. Calculate the molarity of the solution.

Which of the following displacement reaction will not occur? Also give reason:
a. Clyoy+2NaF 4y = 2NaCl ) + Fy oy b. Bry g, +2 K1 4y —> 2KBr,

c. IZ(g) +2KBr(aq) — 2K y Brz((_,)

(aq

SECTION - C (Marks 20)

23 Describe the Rutherford’s atomic model. What are the defects in this atomic modei?

L4 a.
b.

A5 a

b.

Define Solubility. What is the effect of temperature on solubility? Explain by giving examples.
Which of the following pairs ¢f liquid are miscible:

(i) Water and Benzene {ii) Benzene and Carbon tetrachloride (CCl,)
(iii) An oil and Benzene
Describe the manufacturing of Sodium Hydroxide (NaQH') from Brine. Write all the chemical

reactions occurring in the electrolytic (Nelson's) cell.

Boric acid (f1,B0,) is used in eye wash. What is the oxidation state of B in this acid?

Chemistry Annual 2014 —— 1HA 1408 (L) —
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Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-H
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)
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NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i How many moles of molecules are there in 16 g Oxygen?
A 1 B. 0.5 C. 0.1 D. 0.05
(i) What is mass of Carbon present in 44 g of CO,?
A 649 B. 12 g C. 44 g D. 249
(i) What is the formula mass of CuSO,5H,0 ? (Atomic masses are Cu=63.5,H=1,0=16,5=32y
A 159.5 B. 185.5 C. 249.5 D. 149.5
(v)  Number of neutrons inj; M is
A 13 B. 14 C. 27 D. 15
(v) Which of the following sub-shells can accommodate 6 electrons?
A s B. d C. p D. f
(Vi) Rutherford used particles in his experiment.
A He atoms B. He’
C. He™ D. He™
(vii) The horizontal rows of the periodic table are called
A Groups B. Periods C. Sub-shells D. Shells
(viii)  Valence shell electronic configuration of an element M (Atomic No. 14) is
A 2s%,2p" B. 252 2p? C. 3s%,3p? D. None of these
(ix) Which of the following is NOT TRUE about the formation of Na,S ?
A Each Sodium atom loses one electron B. Sodium forms cations
C. Sulphur forms anions D. Each Sulphur atom gains one electron
(x) A liquid boils when its vapour pressure is
A 760 mm Hg B. 1Pa C. 101.325kPa D, None of these

{xi) Which of the following solutions is more dilute?

A 1™ B. 2M C. 0.1 M D. 0.009 M

(xit)  Consider the given reaction: H,S+Cl, > 2HCI+ S

In the above reaction, H,S behaves as a / an

A Reducing agent B. Oxidizing agent
C. Electrolyte D. Catalyst

For Examiner’s use only:

Marks Obtained:

Total Marks: E
]
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CHEMISTRY SSC-I L

(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section “C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatiy and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(i) Write the empirical formulas for the compounds containing C to H in the following ratio:
a. 1:4 b. 2:6 c. 6:6
(i) Oxygen (O, ) is converted to Ozone (O, ) during thunder storms. Calculate the mass of ozone (0,)

if 9.05 moles of ozone is formed in a storm.
i) Differentiate between Analytical chemistry and Environmental chemistry.

(iv) Write electronic configuration of the following elements:
28 - 2
a. 20 Si b. . I Mg c. N Ar
{v) M-24 is a radioactive isotope used to diagnose restricted blood circulation. How many electrons, proton

and neutrons are there in this isotope. Valence shell electronic configuration of M is 3s™
(vi) Find out the position of the following elements in the periodic table from the electronic configuration:
a. Nitrogen (Atomic No. 7) b. Oxygen (Atomic No. 8).

{vii) For Aluminum (Al) and Nitrogen (N) pair of atoms, use electron dot and electron cross structures to wril
the equation for the formation of ionic compound.

(viii) Is evaporation a cooling process? Explain briefly.

(ix) Expiain why CH,OH (Methyl alcohol or Methanol) is soluble in water but C,H, (Benzene) is not.

(x) A solution of calcium hydroxide Ca(OH,) is prepared by dissolving 5.2 mg of Ca(OH), to a total
volume of 1000 ¢’ . Calculate the molarity of this solution.

(xi) What is Oxidation State? Calculate the oxidation number of Crin H,CrQ, (chromic acid).

(xii) Which of the foilowing displacement reactions will occur and why:

8 Cl (g +2NaF = 2NaClyy + Fygy b Brygy+ 2Kl > 2KBrig + Iy

C. ]2(5') +2KBr(aq, - 2K1(aq) +Br2(,)

(xii)  Name two substances that are solids at25°C .
(xiv)  Explain how elements attain stability.

(xv)  The Isotopes of Chlorine are ;>C! and}, CI . How do these Isotopes differ? How are they aiike?

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20
Q.3 Define Covalent Bond. Explain the types of covalent bond giving two examples of each bond. (1€
Q.4 Explain the effect of external pressure on boiling point of liquids. (1€
Q5 a Explain the ways in which Oxidation and Reduction processes can be defined. Give two examples

of each. : (Ot

b. Hydrogen peroxide (H,0,) reacts with Silver oxide (.4g,0) and Lead (II) Sulphide
according to the foliowing equations: (0:
0] H,0,+ Ag,0 - 24g+ H,0+ O, (i) 4H,0, + PbS — PbSO, +4H,0

Is hydrogen peroxide (f,0,) an oxidizing or reducing agent in the above reactions? Explain the rea
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RoiNo. | | | [ | | | Answer Sheet No. 5\[(

Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I
SECTION - A (Marks 12)
Time allowed: 20 Minutes {Old Syllabus)

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) Who had discarded phiogiston theory?
A Wohler B. Lavoiser C. Stahl D. John Dalton
(i) The Molecular Formula of oxalic acid is C,H,0, . Which of the following formulae represents its

empirical formula?

A CH,0, B. CHO C. CHO, D. C,HO,
(it The maximum number of electrons which can be accommodated in L-shell of an atom is

A, 6 B. 8 C. 18 D. 32
(iv) The red colour of human hair is due to the presence of compounds of .

A iron B. Titanium C. Cobait D. Molybdenum
(v) Which of the following molecules has the highest polarity between atoms?

A H, B. co, C. HCl D. H,0
{vi) How will heating a liquid affect its evaporation?

A Decreases

B. Increases

C. Remains the same

D. Initially decreases and then increases upon further heating
(vii) ice-cream contains by volume of air.

A 30% B. 10% C. 50% D. 20%
{vii)  Sulphuric Acid was discovered by

A Al-Jahiz B. Berzelius

C. Jabar bin Hayan D. None of these
(ix) in Down’s cell, the cathode used is made of .

A Graphite B. fron C. Steel D. Aluminium Oxide
{x) One Faraday is equal to A

A. 86,200 Coulombs B. 86,600 Coulombs

C. 96,500 Coulombs D. 86,400 Coulombs
{xi) Apple plant grows at pH of sail

A 45-60 . B. 70-8.0

C. «5.0-6.5 D. 6.0-8.0
{xii) Heat content is also called ,

A Enthalpy of Reaction B. Heat of Reaction

C. Energy of Reaction D. None of these

For Examiner’s use only:

Total Marks: E
]

Marks Obtained:
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7~
CHEMISTRY SSC-I 5C
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)
Q.2  Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)
(i) Who were Alchemiists and what was their belief?

(ie) Benzene has an empirical formula ‘CH’ and its molecular mass is 78. Find its molecular formuia.

(iiiy Wirite down the characteristics of /3 rays.

(iv) a. Who introduced the word Isotope first? What is the meaning of isotope?
b. On what basis do isotopes of a given element differ from each other?

(V) Which element will have larger atomic size in the following pairs:
a. AlorP b. Cuor Ag C. NaorK

(vi) What is Polar Covalent bond?

(vii) Why do atoms form chemical bonds?

viii) It is easy to compress air as compared to water. Why?
ix) Define Molar solution.

(
(
(x) Write down the objectives of Electroplating.
(xi) Differentiate between Conductors and Non-conductors.
(xii) What is meant by Basicity of an acid?

(xiii) Define the following:

a. Titration b. Indicator
(xiv)  Calculate the amount of energy required to vapourize one mole of water (H,0), using the
following equations :
CH4(g +202(g) - CO;,_»(E) +2H20(,) AH =—-890k
CH4(g) +202(g) - COz(g) +2H20(g) AH =-802kf
(xv) What is meant by scientific method?

SECTION —~ C (Marks 20

)

Note: Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)

Q.3 a Describe the contribution that Rutherford made to the development of the atomic model. (06)
b. What are the defects of Rutherford's atomic model? ‘ (02)
c. What do you understand by Proton number and Nucleon number? (02)

Q.4 Howis a Covalent bond formed? Explain by giving examples. Describe the properties of covalent

compounds. ' ' -(10)
Q.5 a Classify the following compounds as acids or bases: | ‘ (06)
()  Calcium oxide i)  Sodium oxide '
(iii) Sulphur trioxide (iv) Hydrogen sulphide
v) Carbon dioxide i) Sodium hydrogen carbonate
b. indicate the category of the following salts: (04)

(0 Sodium chloride { NaCl)

(i) Chrome Alum K,S80,.Cr,(50,);.24H,0

(iii) Potassium hydrogen sulphate  (KI1S0,)

(iv) Ferric di hydroxy acetate  Fe(OH),(CH,COO)
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Sig. of Candidate. Sig. of Invigilator.
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COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B /C /D. Each part carries one mark.

(i) Who developed Analytical Engine?

A John Napier B. Leibnitz

C. Charles Babbage D. Dr. Herman
(i) Which year was the Vacuum tube invented?

A 1899 AD B. 1906 AD

C. 1916 AD D. 1926 AD
(iif) Which of the following is a low level language?

A BASIC B. FORTRAN

C. coBOL D. ASSEMBLY
(iv) The number of colours a VGA monitor displays is

A 4 B. 16

C 256 D. 64
(V) Which of the following is a non-volatile memory?

A RAM B. ROM C. Flash D. Cache
(vi) Which of the following ports provides a connection for transmitting data 8-bits at a time?

A. Parallel ‘ B. Serial

C. use D. PS-2
(wii) Which of the following is NOT an input device?

A Light Pen B. Scanner C. Plotter D. Joystick
(viii)  How many bytes are there in one Kilobyte?

A 1024 B. 1000 C. 2048 D. None of these
(ix) Which of the following is a secondary memory?

A ROM B. PROM C. RAM D. CD-ROM
(x) Interpreter is a type of e

A. System Software 8. Service Software

C. Utility Software D. Application Software
(xi) Which of the following is a ‘DOS internal command?

A DELTREE B. DISKCOPY

C.  FORMAT D. DR
(xii) tn MS-Word, which of the following features allows transferring text to another location without deleting it

from its original location?
A Editing B. Moving
C. Copying D. Scrolling -

For Examiner’s use only:

Total Marks:

__1_{_
Marks Obtained: E
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COMPUTER SCIENCE SSC- v

Time allowed: 2:40 Hours Total Marks Sections B and C; 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 27)

Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)
(i) What is Analog computer? Give one example.
(i) Write three primary mouse movements in windows.

(i) Write briefly about Compiler

{iv) What is the function of Control Unit in CPU?

(V) State any two differences between Hard disk and a Compact disk.
(vi) What is Primary or Main memory? Give two examples.

(vii) What is a Scanner?

(viii)  Whatis a Register?

(ix) What is Application software? Give two examples.
(x) Write down the purpose of the following DOS commands:

a. COPY b. DIR/w o DISKCOPY
(xi) Write any three activities / effects of a computer virus.

(xii) Give three features of Windows operating system.

(xit)  What is the purpose of "Thesaurus” feature in MS-Word?

SECTION — C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)

Q.3 a What is a Port? Explain Serial and Parallel ports with examples. (04)
b. Write down the purpose of the following devices:

Q)] Digital Video Camera (i) CD Writer (04)

Q.4 Whatis a Non-impact printer? Explain the types of Non-impact Printers. (08)

Q.5 Digital computers can be classified into four main types. This classification is based on their

processing power, speed, size and memory. Explain the different classifications of digital computers. (08)
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[ Answer Sheet No.
1] oy

Sig. of Invigilator.
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ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes Revised Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

(H Patriotism gives pecple to safeguard the interest of the country and nation.
A Respect and honour B. Bravery and valour
C. Power and pelf D. Strength and courage
(i) The ideology of Pakistan was based on the fundamental principle that the Muslims are
A Second to none B. An independent nation
C. Made of sterling material D. Net afraid of death
(iii) Having tested her seeing friends to discover what they see, Helen Keller became convinced that
A The seeing see little. B. The seeing see what they want.
C. The seeing see a lot. D. The seeing remain very busy.
(iv) Blue Mosgue reflects the architectural style of both
A Ottoman mosque and American church B Mughal and Ottoman mosgue
C. Otftoman and Arabian mosque D. Ottoman mosgue and Byzentine church
(v) Which of the following is NOT a phrase?
A The heart of a lion. B. The twinkling eyes of a deer in the forest.
C. Every day is not Sunday. D. A blessing in disguise.
(vi) “I know the woman whose child was hurt”. The undetlined world isa/ an Pronoun.
A Relative B. Possessive C. Interrogative  D. Personal
(vii) “A distinguished journalist will record your statement”. The underlined word is a
A Pronoun B. Noun C. Caonjunction D. Verb
(viii) He is indifferent all kinds of advice.
A with B. to C. of D. from
(ix) “Please do not make a noise” The underlined word is a / an Noun.
A Collective B. Countable C. Abstract D. Concrete
(x) “Most of us take life for granted”. It is a sentence.
A Simple B. Compound C. Complex D. Compound complex
(xi) “She became a doctor”. The underlined world isa/ an .
A Action verb B. Linking verb  C. Helping verb  D. Modal verb
(xit) “The wind whispered the rumors of the forest’. In this sentence we find an example of
A. Personification B. Simile C. Metaphor D. Imagery
(xil)  “Noise pollution can cause hypertension and insomnia”. What is the Synonym of the underlined word?
A. Drowsiness B. Watchfulness C. Sleeplessness D. High blood pressure

(xiv)  The opposite meaning of Frequently is .
A Regularly B. Seldom C. Repeatedly D. Recurrently

{xv) Choose the CORRECT spelling:

A. Prosalitizing B. Proselityzing C. Proselytesing D. Proselytizing
For Examiner’s use only: T
Total Marks: E
Marks Obtained: ]
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ENGLISH COMPULSORY SSC-I o

Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise pages 1-2, Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION - B (Marks 39)

Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
(i) What was the mission of the Holy Prophet (PBUH)?
(i} What are the qualities of a patriot?
(iii) How did Hazrat Asma (RA) console her grandfather?
(iv) What was the Quaid's concept of our nation?
(v) How did the nurse risk her career to help the patient?
(vi) What are the causes of drug addiction?
(vii) Why is noise dangerous for human heaith?
{(viii)  What makes you feel that the author of ‘Three Days to See' is sad and depressed?

Q3 a Paraphrase any ONE of the following stanzas: (03)

(i) He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

(i) | wandered lonely as a cloud
That floats an high o'er vales and hills,
Where all at once | saw a crowd,
A host of golden daffodils;

b. Read the following stanza carefully and answer the questions given at the end: {06)

For oft, when on my couch | lie

In vacant or in pensive mood,

They flash upon that inward eye
Which is the bliss of solitude;

And then my heart with pleasure fills,
And dances with the daffodils.

Questions:

(i When do the daffodils flash upon the inward eye of the poet?
i) What is the bliss of solitude?
(iii) What change does the poet feel in himself?

Q4 a Change the Voice of any FOUR of the following: (04)

i) We had not seen him before.

(i
(i) How was he making a picture?
(i) The grandmother told us a strange story.
(iv) Who wili oppose you'.;

(v) We were not helped by them.

{vi) Da not tell a lie.

{vii) They do not do their own work.
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b.  Provide correct form of Verb of any FIVE of the following sentences:
() He (be) absent yesterday.
(i) If he (run) fast, he will win the race. \
(iii) No sooner did he see the snake than he (begin) to tremble.
(iv) Haste (make) waste.
(v). If they played well, they (win) the match.

SV The sun had risen before we (be) ready to leave.
(vii) The pigeons had been (catch) in the net before eating grain.
(viif) She (sleep) since morning.

c. Punctuate and capitalize the following para / line(s):

There are those of course who wou'ld adopt the epicurean motto of eat drink and be merry but
most people would be chastened by the certainty of impending death.

SECTION — C {Marks 21)

Q.5 Write a letter to your father requesting him to send you extra funds for payment of hostel dues.

-OR-
Write a letter to your friend congratulating her on her birthday.

Q.6  Wirite a paragraph of about 50 to 70 words on “Pakistani Women”.
Q.7  Translate any EIGHT of the following sentences into English:
gL e tudund () _GuEecly ()

chuAE it W) e S S P (i)
QB IILLEST ) Sl e niihs ()

o M E ey (vii) Gl f BT (i)

B ebatisiUnby 0 Wpbd U @)

sl ghen @S (i) Luse A gs ()
-0OR-

Wriie a dialogue between two students regarding prayers.
-OR-

Write a dialogue between two friends on the effects of noise pollution and some solutions to it.

~—ISA 1401 (L) —— .
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L I ]‘ { l r‘ J Answer Sheet No. .

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

ENGLISH COMPULSORY SSC-I
‘ SECTION — A (Marks 15)
Time allowed: 20 Minutes Revised Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q. 1 Circle the correct option i.e. A/ B / C / D. Each part carries one mark.
) The pagan Arabs wanted to prevent the Holy Prophet (PBUH) from preaching Allah Almighty's message

because .

A They did not believe in God

B. It was threatening their dominance in the society

C. It was threatening their lives

D. It was a new message
(1) The drug addicts must be taken to

A Police Station B. Any rehabilitation centre

C. Home D. Proper and certified rehabilitation centre
(iii) In the unit “All is Not Lost", Hira's eyes showed as if she wanted to say

A “You are fighting a lost battle” B. “All is not lost”.

C. “Please help me" D. “| can walk again”.

(iv) On the first day of sight Helen Keller would want to see

A The people whose companionship has made her life worth iiving.

B. The thrilling miracle by which the night is transformed into day.

C. Workaday world of the present.

D. The history of man and nature
V) Which of the following is NOT a phrase?

A Between the devil and the deep sea B. Every hard moment in life

C. God knows better. D. None of these
(vi) “Well done! You won the contest”. The underlined words are

A Adverb B. Linkingverb  C. Conjunction D. Interjection
(Vii} “Some are born great”. The underlined word isa/ an Pronoun.

A. Indefinite B. Relative C. Personal D. Possessive
(viii) Do not be jealous others.

A. at B. of C. with D. to
(ix) “The gcrowd was dispersed”. The underlined word is a/ an Noun.

A Collective B. Abstract C. Proper D. Material
(x) "He is rich, yet he is not happy”. Itis a sentence.

A Simple B. Complex C. Compound D. Compound complex
(xi) “Work hard lest you should fail”. The underlined word is a/ an

A Preposition B. Adverb C. Interjection D. Conjunction
(xii) “The woods are lovely, dark and deep". In this line we find an example of

A Simile B. Metaphor C. Alliteration D. Personification
(xiii)y  “Keep up your morale’. The similar meaning of the underlined word is

A Self-esteem B. Faith C. Voice D. Wealth
(xiv)  The opposite meaning of ‘Covered’ is

A, Concealed B. Screened C. Masked D. Exposed
(xv) Choose the CORRECT spellings:

A Convalutions B. Convolutions C. Convoleutions D. Convolushuns

For Examiner’'s use only:

Total Marks: E

Marks Obtained:
—=-ISA 1401 (ON) -——
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Ak
ENGLISH COMPULSORY SSC-I ’

Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION — B (Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
) What was the first revelation conveyed to the Holy Prophet (SAW) in the cave of Hira?
i) What message do you get from the life of Hazrat Asma (RA)?
iii) How will you define Patriotism?

iv) What is the result of neglecting the advice of the Quaid?

(
(
(
(
(v) Describe some qualities of the nurse in the story 'All is Not Lost’.
(vi) How can we cope with the serious problem of noise pollution?

(vii) What happens when media is allowed to play its role unchecked?
(

vil)  Who was Helen Keller?
Q3 a Paraphrase any ONE of the following stanzas: (03)

(i A poet could not but be gay,
In such a jocund company!
| gazed — and gazed ~ but little thought
What wealth the show to me had brought:

(i) Whose woods these are | thunk | know.
His house s in the village though;
He will hot see me stopping here

To watch his woods fill up with snow.
b. Read the following stanza carefully and answer the questions given at the end: (086)

He gives his harness bells a shake
To ask if there 1s some mistake.
The only other sound'’s the sweep

Of easy wind and downy flake.

uestions:

(i) Why does he shake his harness bells?
(it What 1s the only sound there?

(i) What atmosphere do you feel in the stanza?
Q.4 a Change the Voice of any FOUR of the following: (04)

i) He had not applied for job.
i) Where was the lion drinking water?
i You invited me to tea.

V) Your promise was not fulfilled by you.

vi) Help the needy.

(
(
(
(iv) Who will face the danger for you?
(
{
(

vii) He does not listen to me

English Compulsory Annual 2014 Page 1 of 2 (Eng. Com. New) 30



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

b. Provide correct form of Verb of any FIVE of the following sentences:

(i) He (be) ill yesterday.

(i) if he (work) hard, he will win the competition.

(iii No sooner did he see the lion than he (run) away.

(iv) Two and two (make) four.

(v) He (leave) twenty minutes ago.

(vi) He (stand) in the sun for an hour.

(vi) The rain had stopped before he (reach) home.

(vii§) If you (not use) a mosquito net, you may catch malaria,

c. Punctuate and capitalize the foliowing para / line(s):

Son of my brother go thy way none will dare touch thee i shall never forsake thee,

SECTION — C {Marks 21)

Q.5 Write a letter to your friend thanking him for the books he lent to you.

-OR-

Write a letter to your mother about the test you have just taken.

Q.6  Wirite a paragraph of about 50 to 70 words on “How to Keep Our Town Clean”.

Q.7 Translate any EIGHT of the following sentences into English:

- Ll E (i)

el Loy ()
—eQedUudsduriudy (v
Smd e dont # (i)
Lylesd Lovdstoer (%)
efedoudls o)

-OR-

-1

e Q/,‘:.»Jd;t_,l[
SR Yy Sy Ve
_i‘cjrlrfd/ “
AT A A0
-Jmuw.uyf{u‘?a}

Write a dialogue between two friends on "The Problem of Drug Addiction in Pakistan.

-OR-

Write a dialogue between a tailor and customer.
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Roll No. ( ‘ | | T l I Answer Sheet No. ,,({

‘D
Sig. of Candidate. Sig. of Invigilator.
ENGLISH COMPULSORY SSC-I
SECTION - A (Marks 15)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section—-A is compulsory and comprises pages 1 — 2. All parts of this section are to be answered on
the question paper itself. It should be completed in the first 20 minutes and handed over to the Centre
Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e, A/ B/ C/ D. Each part carries one mark.

(i)

(iif)

(iv)

(vi)

(vii)

(viii)

{ix)

What is the standard of superiority in Islam?

A Wealth B. Health

C. Creed D. Piety

How many companions were with Hazrat Khalid bin Waleed (RA) at the time of embracing Islam?
A One B. Two

C Three D. Four

How long do the bees live for in summer?

A Three to four weeks B. Four to five weeks

C Five to six weeks D. Six to seven weeks

There is a visible in women to strive for a better life. (Refer to the lesson — Women Arise!)
A Desire B. Wish :

C. Urge D. Passion

On which day of the Chinese New Year do the children and unmarried people go to visit their elders?

A First day B. Second day
C. Third day D. Fourth day
Hina was tempted to eat but her brother stopped her.

A Dahi bhulas B. Samosas
C. Gol gappas D. Fruit chaat

is the central figure of the universe. (Refer to the lesson — Knowledge is Light )
A. Knowledge B. Religion
C. Man D. Prayer
"We have had women paliticians as Prime Minister and Education Minister”. What tense is it?
A Past Indefinite B. Present Perfect
C. Past Perfect D. None of these

“We drink water, breathe air and walk on land”. The underlined word is a/an

A. Verb B. Adverb

C. Adjective D. Noun
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DO NOT WRITE ANYTHING HERE

() “Rebecca’'s mother commended her behaviour”. Which of the following is NOT a synonym to the

underlined word?

A Praised B. Appreciated

C. Criticized D. Applauded
(xi) English is very easy to read and write.

A The B. An

C. A D. None of these

(xi)  "“Areformer is the one who brings about reforms in a society”. The underlined word is a / an

A Reflexive Pronoun B. Relative Pronoun
C. Demonstrative Pronoun D. Interrcgative Pronoun

(xiii)  Which of the following is NOT a sentence?

A | congratulate you

B. Congratulations on the distinction conferred on you
C. Please, accept my congratulations

D. I am sending to you my heartiest congratulations

(xiv)  Which of the following is a CORRECT sentence?
A Each of the boys has paid his dues. B. Each of the boys have paid their dues.
C. Each of the boys have paid his dues.  D. Each of the boys has paid their dues.
(xv) Choose the CORRECT spelling:
A Utilitarian B. Uteliterian

C. Utaliterian D. Utaleterian

For Examiner’s use only:

Total Marks: E
[ ]

Marks Obtained:
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Roll No. ’ ‘ | l l l ] Answer Sheet No.

7

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

ISLAMIYAT COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

@) What does 3G9I mean?

A Booty B. Robbed weaith C. Extraincome D. Weaith
(i) What does f$&1 23 mean?
A Saturday B. Holy day
C. The day of Discrimination D. Hajj day
(i) The meaning of 6;;:’:;; is .
A Ten B. Twenty C. Thirty D. Forty
(v}  What does ;E;’;I mean?
A ‘Brother's sons B. Real sons C. Adopted sons D. Sister's son
(v)  Whatis the meaning of |3A2% P
A Oral B. Written C. Reading D. Hidden
(vi) What does LQ-;..e[;_.; mean?
l’\.‘ 5. Theirfwomes B. Their forts C. Their villages D. Their cities
(vi) (SN means .
A Your enemy B. Our enemy 103 My enemy D. Their enemy
(vii*  What does w;fiji (sins] Me@N?
A The deaf people B. The dead people (who are in the graves)
C. The good people D. The bad people
(ix) WL AL
A sLuaill B. Ja C. plise D. it
(x) According to Hadith the best is one who has the best . :
A. Manners * B. Dress C. House D. Family
{xi) The Holy Quran was revealed in about years.
A 10 . B. 15 C. 23 D. 30
(i)  Translation of W %53 s “May Allah!
A Increase my knowledge B. Increase my wealth
C. Increase my life D. Increase my good deeds
(xiiy  How many uses of Zakat (poor-due) have been described in Surah Tauba?
_ A 5 B. 8 C. 10 D. 11
(xiv)  How many ways are there to express Aflah's gratitude? :
A. 2 B. 3 C. 4 : D. 5
(xv)  Which relation is expressed by the word (>33 7
A Parents B. Father and Daughter
C.  Brother and sister D. Husband and wife

ForExaminer's use only:
Total Marks:

[ 15 ]
Marks Obtained: |
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ISLAMIYAT COMPULSORY SSC-| /

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions of Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION ~ B (Marks 38)

Q2 a Translate any TWO of the following Quranic Verses: (2x4=8)

R IS E Ao P TR T A e f 0 A
oS SN Ly NE 50 G LTS o Bea i

WA AT 550 Gl s BT B el AG SRS E Y G 8 6355 0

S I KRG S Cebi Wi 852

Wiz 5 2 AT R E 0 BSE) B ET s e WSS s dasge @

SRR EFTE 655 s dnas o8 o)
b. In the Quranic Verses and their translation given below write in detail the meanings
of any FOUR underlined words: (4 x 2=8)

I 37,
' \;1

¥ SHAL AR 4 JEIs e a0

Translation:
They ask you (O Muhammad) of the spoils of war. Say: The spoils of war belong to Allah
and the Messenger, SO fear Allah, and adjust the matter of your difference,

R L PP R I L R I E L WIS L 22 o R e A5, (AT i
Sl s sl (U UESs s R B o SRV By S G

S £ o - PR Ld
Translation: @V B
O Prophet ! Say unto your wives: If you desire the world's life and its adornment, come!
| will give you a provision and will release you with a fair release.

c. Write short answers to any SIX of the following questions: (6 x 2=12)

i) What is meant by two groups? (Surah Al-Anfal)
ii) What instructions are given by Allah about the adopted sons in Surah Al-Ahzab?

iv) Which is the best action and the best pray (dua) according to Hadith?
v) Write down the translation of any one Quranic verse about the importance of knowledge.

(
(

(
(
(iii) What is meant by migration (<) according to the teachings of Islam?
(
vi) Write down any two benefits of Purification.

(

vii) On which points has Allah asked the Holy Prophet (PBUH) to obtain the cath of allegiance
from migrating women in Surah Al-Mumtahanah?

Q.3 Translate and explain any TWO of the given Ahadith and describe how they are
related to our practical life: (2x5=10)

s g @i e s W
MG BTG e i)

ey e e S i
SECTION - C {Marks 22)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 11 =22)

Q.4 a Describe the meaning and importance of Zakat in the light of Quran and Hadith. (05)

b. Describe the method of Ablution {Wazu). (08)

Q.5 Describe the meaning and kinds of Jihad. (11)

6  Write in detail the duties of wife and husband to each other. (11)
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(2x4=8) 2l o sHe T3 Lo
SR YN 2 X N - 2 L, .
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SLAGIADESIH O35 B 83 08 &)
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{ii)

(i)
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AR

i nls Sl G Ul s U L S 5 S ey B Al
o322 BIL

s e UMl U TS T 5 2 sd Ul S8 e sl e s

(6x2=12) Nz o 6) £ e detidine 0
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VYA a Sy HesiSice (W) e e Ak B (i)

_u_.’/';//l";’ ] LJ/L:—AA’ (vi) -q&/k}KRT&T}_gJ(LL'PL&WJk (v)
e VW e il vt 8 A i)
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SEIFIEE ST () s b

e e o S G e S i
@22/4f) prio
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(06) B 1o
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Roll No. ’ [ { ] [ ] 1 Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator. ) 1/
T
MATHEMATICS SSC-I
SECTION — A (Marks 15)
Time allowed: 20 Minutes (Science Group)
NOTE: Section-A is compulsory. Ali parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.
Q.1  Circle the correct optioni.e. A/ B/ C /D, Each part carries one mark.

Mathematics Annual 2014

(i)
(i),

(iif)

(iv)

(vi)

(vii)
(viif)

(ix)

(xiii)

B+5 )(3-5)=
A 4

B. 25 C. 15 D. 2

4
x —16=
A. (x-2)x+2) B. (x-2)(x*+4) C. (x+2Xx*-4) D. (x=2)(x+2)(x* +4)
il
A. - B. +i C. -1 D. +1
The square root of o’ ~2a+1i8
A Ha+l) B. +(a-1) C. a-1 D. a+1
HCFof @’ -b% and a’ -5 is
A a->5b B. a+b 03 a2+ab+b2 D. a*—ab+b’

What should be added to complete the square of x4 +64 7

A. 8x2 B. - 82 C. 16x2 D. 4x°
ifa,be R . only one of a=b or a<b or a>b holds is called property.
A Trichotomy B. Transitive C. Additive D. Multiplicative
The decimal part of the common logarithm of a number is called
A Characteristic B. Antilogarithm  C. Base D. Mantissa
The medians of a triangle cut each other in the ratio
A 4:1 B. 3:1 C. 2:1 D. 1:1
When all the sides of the triangle are different in iength, the triangle is called triangle.
A Right angled B. Scalene C. Equilateral D. isosceles
A quadrilateral having each angle equal to 90° is called
A Parallelogram B. Rectangle C. Trapezium D. Rhombus
If two sides of a triangle are unequal in length, the longer side has an angle of measure
opposite to it.
A Smaller B. Equal C. Double D. Greater
If P(xl,yl)and Q(xz,yz)are two points in the plane, the mid-point R(x , y) of line segment PQ
is

2 7 2 2 2
C. (ﬂ ﬂ:_y—ﬂ D. None of these

2 72
Product of [, y]{ 2 } is

-1

A [2x+y] B. [x-2y] C [2x-¥] D [x+2y]
Imaginary part of —i(3i+2) is
A -2 B. 2 C. 3 D. -3

For Examiner’s use only:

Total Marks: Ejl

Marks Obtained: |
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Roll No. Answer Sheet No.

Sig. of Candidate; Sig. of Invigitator:
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) (54N i 22420
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e A7 6 0310 I MNrmene 5 | Bl I SO L

= (3+4/5)(3-¥53)

2 15 g 25 o 4
4

- =x-16
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+1 N R S S| =;7
- 5/'12502—20+]
a+1 o a—1 & I —1) — Ta+l)
< Ak @ b wa® b
a* —ab +b? s oat+vabeb ath  __ a-b  __
Ll VeSS 64 1
4x° = 16x° -z -8x7 o gxr .
te Qb remnu >bla<bia=b _fiema.beR /i
B I e Y de -
- Lo /LAt Lons”
e L Ju At L PR
e S eSS Yoo pfiglosd ke
1:1 - 2.1 % 31 e 4.1 .
e Sl o o {1V uip UL i
LA VIS IR X AT A1 SORNNCH -5 29107 N R - SO) P | S
e O 790" a2 k]
o I ST o pwwgar L
e (e i Sestid_tscz VEF g uir st tse L/Lé"g_ug;?um/.uut_f’ LS A N
ol s o ¥ Al e F il
' R(x,¥ ) 53wk PQius O(X 1. 35) t P(x ) 1) sEnfie St ssl

>4 . R R ) Xy Yoty Xty ytyp .
J.‘U:rc_u:ay&u -2 (—2—.—2—) & (—5-——.,—) — (—2—.-——,—-) -

2
-cl'_/.‘/.d: J‘b&.}/"b’ [x , y] {:—lJ

[x+2y] o3 [2x-y] 0 [x=2v] - [2x+y] i
s #bd/::;,g-i(shz)
-3 3 3 2 . -2

D 1/.‘.'0:/‘)’ b : /‘U”
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MATHEMATICS SSC-| =

(Science Group)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60
NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table and Graph Paper will be provided to you on demand.
SECTION - B (Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36

0 -3 -5
() Use matrices if possible to solve the given system of linear equations by using matrix inverse methods
2x+y=3,; 6x+5y=1

iiiy Two sides of a rectangle differ by 3.5 cm. Find the dimensions of the rectangle if perimeter of the
rectangle is 67 cm.

a+b b+c c+a
a b c
(iv) Show that(x—bj x(z_] x[x_] =1
X xc xa
(v) Simplify =—— 2-60 4+ +l: and write your answer in the form of @+ bi
341 3+

{vi) Prove that loga(mn) = nloga m

- -1 3 1 2
(i) Let A= 5 ; B= , verify whether AB=BA

. {viiy  Use log table to find the value of (789.5,-’%_

Note:

Q.3

Q.4
Q.5

y o 2xy

y S x+y x2_y2

(viii) Perform the indicated operation and S|mpllfy

(ix) .If(Sx———) ()f:ndthevalueof[lZSx}— 1 }

12553
e 1442 -2
s
(x) |mpI|fy +\/— \/'— \f

xi) Factorize x(x-1)— y(y—-1)

xiiy  Factorize the cubic polynomial x> +5x% —2x - 24 by factor theorem.
xii}  For what value of ‘m'is the polynomial p(x) = 4% —Tx* +6x— 3m exactly divisible by x+ 27

xV) Find the HC.F of x* +x° - 2x*> + x— 3; Sx° +3x*~17x+6 by division method.

(
(
(
(xiv)  Factorize 1—64z>.
(
(xvi)  Use division method to find the square root of 4+ 25x% —=12x - 24x° +16x*
(

xvii)  Simplify 1 + > 1 - 2 2 asa rationai expression.
X =8x+15 x“—4x+3 x“-6x+5
{(xviii)  Solve the given pair of equations graphically-x-- y+1=0 and x—-2y =—1.
SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Verify whether or not the points O(0,0); 4 (\/5, 1); B(\B _1) are the vertices of an equilateral triangle.
If twc; opposite sides of a quadrilateral are congruent and parailel, it is a parallelogram. Prove.

If two sides of a triangle are unequal in length, the longer side has an angle of greater measure
opposite to it. Prove. ‘

If the square of one side of a triangle is equal to the sum of the squares of the other two sides then

the triangle is a right angled triangle. Prove.

Construct AXTZ . Draw its medians and show that they are concurrent:
mYZ =4.1cm :m2ZY =60° andm <L X = 75° . Also write the steps of construction.
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Roll No. l I } l q ] —I Answer Sheet No. .

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circ!_g the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i} IfA=[1, 2, 3]. the orderof A is
A 2x3 B. 3x1 C. Ix3 D. 1x3
(i) A non-terminating, non-recurring decimal fraction represents a / an number.
A Natura! " B. ~ Rational C. Irrational D.- - Prime -
(iii) The integral part of the common logarithm of a number is called
A Mantissa B. Base C. Power D. Characteristic

(iv) What will be added to complete the square of 9a° ~12ab?

A. ~16b’ B. 165> c. ap D.  —4b°
(v) H.C.Fof 5x%y% and 20x°y° is ,
A 5x%y? B. 20x%y° C. 100x°y° D. None of these
(vi) if y=2x+1and x=2 then y=
A 2 B. 3 C. 4 D. 5
(vii) Distance between the points (1,0) and (0,1) is
A0 B, 1 c. 2 D. 2
(viiiy  The graph of y=7 will be
A. Along x-axis B. Along y-axis
C. Passing through origin D. None of these
(x) 107%=
A 0.1 B. 0.01 C. 0.001 D. -100
(x) A triangle having two sides congruent is called triangle.
A Scalene B. Right angled C. Equilateral D. Isosceles
(xi) The sum of the length of any two sides of a triangle is the length of the third side.
A, Less than B. Greaterthan C. Equal to D. Half
(xii) If two medians of a triangle are congruent, the triangle will be
A, Isosceles B. £quilateral C. Right angled D. Acute angled
(xiii)  If one angle of a right triangle is of 300, the hypotenuse is as long as

the side opposite to the angle.

A Half B. Twice C. Thrice D. The same
(xiv)  The scientific notation of 96,000,000 is _ - '

A, 960x10" B 9.6x10° c. 9.6x10’ D. 96.0x10°

2
(xv) The radical sign of 43 is

A 42 B. 43 C. i/zl D. None of these

For Examiner’s use only:

Total Marks:

Il

Marks Obtained:
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Rolt No ! Answer Sheet No.
L

Sig. of Candidate: Sig. of Invigilator:

|- g o)
(h..-."/lf"{i/) (1 SZ/J)JB"JD w20 2

AT LT SRR AR SRR BT 1 TS VNN -3 S WA ORI VLR PRI YL IRT Y,

—cf—ﬁ}ugﬁzﬁ—u:’ﬂ iy J/J:.._Jﬁwuc..gﬂ 31 fle 1 6"’ L‘Wléfé_.) -'/:‘U'f

- 2asA=[L23L45 )
1x3 - 3x3 & 3x1 —— 2x3
g Sl BH S A ST (i)
sl F13 - et L Ll o Aelbd
g PRl Al i)
- " e d -& B L L
ol I BV A9 —12ab (W)
~4b? i % 16b° - —16b* -
Ex (B'I;W 20x°y? i 5xty? M v)
S Lot = 100x°y° L 2017y — 5x%y? L
y= wx=2 Yy =251 40 (i)
5 - 4 L 3 e 2 .
- JobdLes® (0,1)51(1,0066 (Vi)
2 NG 1 e 0 .
. S ¥y=7 (i)
S est s o b dee o EeGRlFy o Eegelfx o
- =102 (ix)
100 o 0001  .% 001 - 01 .
Sew Sl iun LWl n L el ()
FUHlS L L b T Qs
e tx = QIS Sl s ()
osT - 4 - % e td .
e el Febenl s LS (i)
e SIS R SR 1Y N FUGS
et  QUSEEIEL i 53w 30" potickibale sitztes S (xii)
Az - (I SR 3 Uy e PIT R
dx A55*1§9600,0000  (xiv)
96.0x10° -3 9.6x10" & 9.6x10° - 96.0x107 _
?Jﬁl:?zligﬁé;J 4% (xv)
Sl ottn o NI ER— RN
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MATHEMATICS SSC-I -
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Graph Paper and L.og Table will be provided to you on demand.

SECTION — B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=236)
o 1 -2 0 7 ¢ ot
(i) f A= : B= find 24 -3B
3 4 -3 8]

(ii) Solve 4x+2y =8 ; 3x— y =—1 by Cramer's Rule.
iy =[S0 1=[7 1] fndaandw

2% x (27)% X (60)%

(180)7 x (4)3 x (9)"

) Simplify (2-=4)(3-J/=4) and write your answer in the form of a + bi

(v)  Simplify

(vi) Express 5.06x 10" in ordinary notation.

(vii) " Use log table to find the value of \5/2.709 X 7\/l 239

2
(viif) Perform the indicated operation and simplify X" =25 x+45

2_ 36 Xt 6
(ix) Factorize (x+2)(x+3)x+4)x+5)-15
(x) Rationalize the denominator of \/?2—5
(xi) Prove that log, (5”'1—) =log,m—log,n

(xii) Without actual iong division determine whether (x —2) and (x —3) are the factors
of p(x) = x> —12x% + 44x —48.

(xiii)"f' For what value of 'k’ is (x +4) the H.C.F of 2 +x-(2k+2) and 2x2 +hkx—127

(xiv)  Use division method to find the square root of 4x2 +12xy+ 9y2 +16x+24y+16.
(xv)  Solve the inequality 3(x - 1)—(x—-2)> -2(x+4)

(xvi)  Find the vaiue of 'm’ and ‘c’' of the line 2x +3y—1=0by expressing it in the form y =mx+c
(xvii)  Solve the given pair of equations graphically 2x+y=0 and x+2y=2

(xviil)  If (3x +i) =5 find the value of [ 27x® +—L—
3x 2’/')c3

SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8 =24)
Q.3 Use distance formula to verify that the points A (0,7), B (3, —5) and C(—2 ,15) are collinear.

Q.4 Prove that in a correspondence of two triangles, if three sides of one triangle are congruent to the correspond

three sides of the other, then the two triangles are congruent. 5.8.5= 5.5.S.

Q.5 Prove that the sum of the lengths of any two sides of a triangle is greater than the length of the third side.

Q.6 Prove that the internal bisector of an angle of a triangle divides the side opposite o it in the ratio of the length:
the sides containing the angle.

Q.7 Construct a rectangle whose adjacent sides are 2.5 cm and 5 c.m, respectively. Construct a square having a

equal to the given rectangle. Also write steps of construction.
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Roli No.

S N R R Saswe ShERl G, ~/ %

Sig. of Candilale, €, whaavigilator._

AR

Time aliowed: 20 Minuwec Jia &yiauus;
NOTE: Secuon-A is compusorny. / JUw G BEL.S A6 v W@ BASwEed ON The quitad, super itSe..
It siould be compietea -

e few it L e sepeewsh SVsd W0 the Cealid “L,;t.r.uenden*
Deietingioverwrit. i i3 6.0l duviese . o

vi w3Bicae p\..nu..

Q.1  Circle the correct cpioiiie. A1 o, O D. Each

L AN SATNe Wiie il K.
) S inenumber Jfsienens | aselXisn, sie nLmlel ol esinens L K v, D8

A n? o 2" C. 24" . 2.
¢i) Poict (-2, -E; ies i the T.eurant

A : 3. y C. - D. iv

(i) There exists a2 clasuie L. operty viat

A Adc.tion B, Culb ractior C. TR I . Usie.

&)

-2

o

0

)
&

b
s

) N Iog10x=2,x=

A 500 E. 2al ool 430
i, Trebaseoicciimen Lialanis

” "a‘ o ————————" - .
A < : ) C. Z. 1l
3 02 et
Wil axXT YT 3LI0WLT L Ll e - .
¢ 2 . 5 - : o K]
. oo . - PR P
(viip S X+,=L loux =3 Lsvhesol X0 TF
A 4 3. - " Z 3. ~2
- . , 2 -
%) Facwiizatior. L. X" =+..~_. 8 -
A x=2,x-3, = x=Zyx3) C 0 N Ay
{x) Torwhaive..2 S ., & X i i 08 & compigle SCuaet
A 8 b -8 C. - C. -

1
=

v
-
L 3 U g
(xii) ‘IS e, an TialiX.
L(J 3
A Zero . Lanaly C. SlELL.ET O Sce.ar
e - . ~ . -0 , T .
oiil)  Tne angies Jfmeas.es S0 eac L300 wedalea _ ang.es.
A Comp.emend,, 3 SLisemanary
S, AL 288l . N DT Le3e
{Xiv, o 2diBgo. A o Lo ool AN 8. TG
B - ToN =, Felloo Jgutangie
o Coouel . NLPES T28E
(Xv; SN@ M 00 wnd 0@ Sl 2838 el Lo,
A ’ 3 2z
C. 3 Z 2
For Examine.’s LS. Lot
3 . S i
Lt
rere i v b .

Mathematics Annual 2014 aga e e 46



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

[ e T T T !
Rell Ne. | , ‘ Answer Shzet Mo,
i J ! i
Sig. of Cardidate: 3ig. ~f vigilzton

f.-u-\*’ L L g ‘,-,Ak’q‘-’.._'
( !2\ [ .

'0'd Svi'zous) SR AT e @20 b

-q_&r“UWi L JJ—?.V.:«J’H(!J»JL-)/_;‘( el 3 ?ﬁfq‘ .../‘,"‘u.:'..,-/u. *”.'(g"-.{:u:r’_vé.JLF{%.{&EL&.’&JL{_JJUJ}I,‘» o

. —— ——— .

- /Lf’“/.,q..u" Y iR ene U 5 ! Tl I # L’Wléfz_ﬁ Q/Ju’f
VeSS L 200 I n AL X e ST )

2 - of
-2 ZHH -?.'/ ;." bl of n2 —J!

v - S R R 4 TR P U - B 1)
-0 i s Jaeeslt 0 (i)
-~ - wr -l T L8

55 = & LA, L (-2 . (iv)
Xa  Fpiogpx=2 ye (v)
“~n9 s 0 e T 500

e s i)

ge - -2 R 2 LJ
e & 4%y 43 i

3 -2 : - R 2 J
2R Iy =3 4 x+y=2 4 i)

-2 - 2 o 4 4
) AT Ay (ix)

x4+ 20x -2 L P TR TR e D=3
“l cf'/ Prbxam LIS m 9

— - 4 S g —— 8
e e Ut E j A i

1 - 4 2 2 o 6 i

30
Y2~ S DN B
. o 3 e g

et Frasuluss 130° o 50° (xil)

Sttt 3 Ll Lo CF
Aol wendiz  (xiv)

S ektns  — plade ageSadnss o gl L
- O 3l o e (xv)

bl - B % W o Bl

S ;o fi 15 2 & >
| ' e e A S 1L‘f"2-’/.
Mathematics Annual 2014 47

e T 080K - -



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

SETEATION 350! /%é
» k )

Time allowed: 2:40 Hou™s Tota! Marks Sections B and C: 60

NOTE: Attemint any twelve parts frem Zeclicn ‘B’ and any three questions from Section ‘C’ on the separately
provided answer baok. Use sunp'amantary answer sheet ".o. Sheet-B if required. Write your answers
neatly and legibly.

SECTION ~ B ‘Marks 36)
Q.2 Attemptary T'WELYE parts. £ parts cE sutal marks, (12x3=36)
(i) Find nowar set and its nu: ~ber ofee rants of {a,5,c}.

i) Showthat AN NCY=/ANDIAC # A={,23,.,T} , B={2,3,57,..,11}

ey
and T={2,",€..,.7,

bRl ]
i) £ 4=4{-2,%2} and 5=.-10,-2}, write binary ~lations for R in Ax B, when
) s \'
E={{x, ;" Xe ANVYELAYSX}
1 = 1
(iv) f—=2--v3,e avater x+—
X

®

PV g N

. . N : 7 Pr

v) Simplify: S b 305" a7} ,x#0
Xty x /

(v) Name tha properties of real numbers used in each of the foliowing:

5 5
a, 8+38=23%+8 b, (2+5)J§=2\/§-’-5\/§ c. (——\/2—_—)x1=—%
(Vi) Write ' scientific notatior the speed cf light 2.99793x190'% cm /s after converting it into
ki.ometers per seccn?,

~ oA
VZ24.22

Vit Write 1og—3~——— i the farm of sum ¢~ differerce of logarithms.
/2222
8.97)% x (1.059)°
(i} Eveliete with the hals of ogerithrs: 2 >
57.7
’ a2 g N PR B R 3

x) Subtract 1x+5-2x° fromthesume’ X" +x“—Zx and 2x° +3x-7 .

(D ¥ x+2 isafactor of x° +4x? + x4 8, find the value +fk using Remainder Theorem.

(xii)  Findtevalue of a> +h* when ¢4 =8 and a—b=2

(i,  Faciorize: 3 —1lx -4yt

(xiv) Fnd H.C.F by divisicr method: o Xt e2x?—4x-8 ;2% + 7xt +4x—4

R T '
N -xt - [ X
(xv} Simplify, - X y2 X, 0 \
+y  xaxt U i-x)

(xviy  Use Cramer’s Ruile to solve the systam of equatiors: Ix+2y=6 , y-4x-14=0

“(xvii)  Finc the multipticetive irverce of the matrix if possib'e’ | 3 _3_]
L4 °!
o 2 o N .
o CHL T and B fin thavaite of ksuchthat AB=BA
1 sJ 2]
SECTION - C {Marks 24} , :
Note: Atterpt any TYREE questiors. Al questions carry equel marks. {3 x8=24)

Q.2  Prove that an exter or zrgle of a triang!2 te greater in measure than either of its opposite interior angles.

Q.4 Provetatifin any corresnondence of two tangles, two angles and one side of a triangle are congruent
to the corrasponding twr angles and one side of the other, the trangles are congruent..

Q.5 Prove that any peint inside an eng'2, equidistant from its arms, is on the bisector of it.

Q.6  Construct triangie agreeing with *he inform=ion that two sides are 5 cm and 5.6 cm long and the angie
facing the side cf iength 5 <™ is 457 Alsc v “te s*eps of constructon.
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YPRYSRE R ATy

{Oid Syilabu:)
60 prust prie S & 240
LI 3) F bt prio 170 (12, s L oo - frg WSS werdierp LWl o st o o

-

(O v N - P AT -
-, inf stz £ ¥ -y L._p;f _L,qz../.‘)\Sheex-Bp.‘.rl,‘ff !

. ,»J‘
Qe e
(12x3=36) ALz g (12) e Sie S i A

- 4%’,: \JKJE '/J¢ Y ../..nfa b, ¢} {1
A={,2.3,.,7", B={2,3,5,7,...10} e AC(BND)={ANEY . O ,J’g,f..:f_i.‘

C=12,4,6,..100
R={(x.)lxe AnyeBay<x} B o Ruwdés 4xs 7 B={-10,-2} . A={-2,0,2} S i)

(if)

1
e X+ I = —2+\/§ IR ()

\_U+V7 /-\' W‘]‘H p )
X # 0,.5_(3'_-' «i = {(x" x?) & V)
D,

+7

»"/ L BL L L S s )

! —

L_§]x1=—§- _@(2 r5)\/z=2\/3—+5\r3
/

oo 3438=38+3 s

” 5. . L ., . . » . Fad -
TS E IS R FE e S Ty e 299T95xI0 T el s LBiss (i

v24.42

i PER I i
HE I \/222 3 i
8.97)% #1055 3
\____)_9;.__'_ 6{ s "‘Ufl); N3]
5/./
-ef;}ﬁ/ dx+6-2 o e sl Paxt-2x 223 +3x-7 )

el kel Bkt pze P rad ka8 F x2S
a-b=2 ,. a+b=%§ /ﬁf._.ilr)h}O”:U/ a2_5_32 i)
337 =1 lxy —4y7 1567-; (xiii;

2t —ax-s ) 200+ Txt +4x—4 5”» ”ﬁjyu e Xiv)
T—x" 1=y 7 x D .
- 7 X tt . ' g:/v‘ (xv;
voyoox+xt v 1—x/
Dorldy=C , yodx-14=0 Lz LT (v
3-8 .
DR # oL i o} g SN i
re - Py i
b ) Z U: -
B=i, ot A= b 3 v kI AB=BA S iy
L | A |

24,0 s
(3x8=24) el Db XD P23
‘ -z bn ’/.‘,:/‘}’c.:,u;ﬁ.;pr‘;Jl}éjlifJG’%ly’J(}:ﬁ{&ﬁ‘fé;& iy
_@aﬂJWﬂsﬁp’nJﬁ"é’u oy U:’Jf)a/""'ﬁ..ig‘,‘.f‘ad/g "'f",;i LS Y L&;«_ﬁja’bkbfo;&uf’& Py ffé.:/r :
c‘il:/..» (L 2 i e L m [ 57 REATRTY
-43‘{)"@1,;-4. 45° L1 LG Sen s g BEST T Sl LUl 2 LA kb
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RoiNo. | | | | | | | Answer Sheet No. Lo

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(H The least count of screw gauge having pitch 0.5 mm and 50 divisions on its circular scale is
A, 0.001 cm B. 0.01cm
C. 0.1cm D. 1.0cm
(i) Thnm=___ m
A, 107 B. 1076 c. 107 0. 10’
(i) Which of the following is NOT a vectot quantity?
A Force B. Velocity
C. Momentum D. Speed
(iv) A block of mass 4 kg is supported by = string. Th= tension in the string is
A 20N B. 40N C. 4N D. ON
(v) The centre of gravity of triangular shaped body is
A The point of intersection of its medians B. The point of intersection of its diagonals
C. The point of intersection of altitudes D. The centre of the triangie

{vi) The value of 'g'at a height one earth’s radius above the surface of earth is

A. 2g B. % g C. % g D. %g
{vii) The amount of work done in carrying a bag of mass 10 kg to a height of 3.6 m is

A 360 J B. 36 J C. 364 D. 3600 J
(viii)  Hook's law is applicable to

A Solids B. Liquids C. Gases D. All of these
{ix) At what temperature does water freeze?

A. 0°F B. 32°F (o} 273K D. 0K
(x) Rooms are heated using gas heaters by

A Conduction B. Radiation

C. Convection and Radiation D. Convection

(xi) Which of the following materials has |argé specific heat?

A Clay B. Water C. Mercury D. Glass
(xii) In S, the unit of momentum is
A. kgms™* B. Ns™ C. Nm D. Ns

For Examiner’s use only:

Total Marks:
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Roll No. Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator:

- g ol sl a5 54

Revised Syllabus (12: /j ) Jil» 220 2
e bHI S S Sk ol el S A LAV o wsmt & S L L i byl Siie  2d
e 624 151 2JE rzne B3 1 Ul 1 52 5L L Al

S AN a1 0.5 mmES By S 80, LG AL ()
HEF10 o X0 o KEFaol . KSFo001 L

1nm= m (i}

10° iy 100 10° 107°
e S e K sude S5 (i)

b A 7 T NI
e xf“bft)’z-{—‘:”&@"i-ﬁiwv.ﬁ()' ' Lri/ff 4 (iv)

ON - 4N . 4N - 20N i

St ST e W)
S E e g L G Uty o
B kg LE IS
e pnLina g L 1ges st N
el SR -

e (AL LetiedibedSy o)
i 1 1

2% ) 38 -t 58 o 2g L
(e d s e Zuke b flis 18 3.6 mAH S 10kg  (vii

3600J 360 & 36J o 3604 .
e bl UITEL (vil)

okl ud eVl o e
‘e bhurde ASY ()

0K o 213K R2°F o o°F
3300 S s VRPN ) Al G

Sk o S

ui{/ 2 U):.’"d/':/ s uﬁ”f/ -
e Bl ic e IS S e S i ()

2L & &3 - G
e gL ST (i)

Ns - Nm €& Ns? e kgms™

g A L F e
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PHYSICS SSC-I §Lci’
Revised Syllabus
Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘8’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 33
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)
(@ Differentiate between Speed and Velocity.

(i} A body of mass 5 kg is moving with a velocity of 10ms™". Find the Force required to stop it in 2 seconds.
(i) Why is it easy to open a door by puliing or pushing it at its handie?

(iv) What is the Force of Gravitation?

(V) Describe briefly the working of a vacuum cleaner.

(vi) Define the Latent heat of Fusion.

(vii) Write any three properties of a Thermometric substance.

(viii)  Why does Land Breeze biow in the night? Briefly explain.

(ix) Define Thermal Conductivity of a substahce.

(x) The normal human body temperature is 98.6 “F . Convert it into Celsius scale and Kelvin scale.
(xi) What are Prefixes? Also give examples.

(xii) Derive ve=v;+at.

(xiii) The passengers standing in a bus fall forward when its driver applies brakes suddenly. Explain why.
(xiv)  Explain why the Rolling Friction is always less than Sliding Friction.

(xv) A 500g stone is thrown up with a velocity of 15 ms™' . What will be its Potential Energy at its

maximum height?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a. Explain what is meant by Stable, Unstable and Neutral Equilibrium. Also give cne example
in each case. (06)
b. State and explain Newton's Second Law of Motion. Aiso define the unit of Force. (04)
Q.4 a State and explain Archimedes’s Principle with the help of diagram. (06)
b. Find the perpendicular components of a Force of 50 N making an angle of 30° with the x-axis. (04)
Q.5 a, What is a Satellite? Derive formula for the orbital speed of an Artificial Satellite revelving very
close to the earth. ‘ : (06)
b. A cricket ball is hit vertically upwards and returns to ground 6 s later. Calculate:
(M Initial velocity of the bal! (02)
(i) ~ Maximum height reached by the bail (02).
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53 prol e o Af

"&5"" ol ol uaS Ja
Revised Syllabus

& 240 =

LSS (20 edf e (raio sl 21 (11) L (1o -J_’{QVQ'KJkac-th:«yﬁﬁ.-_,myﬁ vl e s
—Uélgi-ﬂgbuldbglglﬁ z vT-JLka{L/J(Sheet-B);éyﬁ

(11x3=33)

(2x10=20)
(06)
(04)

(06)
(04)

(06)

02)
(02)
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RotNo. | | | [ | | | Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator, .

.........................................................................................................................................................................

PHYSICS SSC-I

SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

0] The least count of Vernier Callipers is

A 0.1cm B. 0.01cm

C. 0.01 mm D. 1.0mm
(i) Which of the following is NOT a Derived unit?

A Pascal B. Newton C. Kilogramme D. None of these
(i) Which of the following is an example of Random motion?

A Motion of wheel B. Motion of a pendulum

C. Flight of a butterfly D. Motion of Rocket
(iv) Inertia depends upon

A. Force B. Mass C. Velocity D. Acceleration
(v) The momentum of an object of mass 4 kg moving with velocity 100cm s lis

A 0.4 NS B. 4 NS C. 400 NS D. 4000 NS
{vi) A pencil just balanced at its tip is in

A. Unstable Equilibrium B. Stable Equilibrium

C. Neutral Equilibrium D. Dynamic Equilibrium
(vii) The Earth’s gravitational force of attraction vanishes at

A 6400 km B. Infinity C. 42300 km D. 1000 km
(viii)  The relation between mass 'm'and Energy ' F' predicted by Einstein is

A E=i B. E = mc? C E=m’ D. mz—E3

m ¢

(ix) In SI, the unit of Stress is

A Nm? B. Nm C Nm™ D. Nm™
(x) 1hp=

A 674 W B. 740 W C. 746 W D. 840 W
(xi) The zero of the kelvin scale is equal to

A 2713°% B. 270°C c. -213°% p. 0%
(i) In solids, Heat is transferred by

A Convection B. . Conduction C. Radiation D. Absorption

For Examiner’s use only:

Marks Obtained:

Total Marks: E
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Roll No.

Sig. of Candidate:

Answer Sheet No.

Sig. of Invigilator:
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PHYSICS SSCHI G
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)
(i) Differentiate between Distance and Displacement.

(i) Find centripetal force needed to move a body of mass 0.5 kg in a circle of radius 50 cm with

a speed of Ims™'

(iii) Why is a vehicle made heavy at the bottom?

(iv) What is a Field Force?

(V) What is meant by efficiency of a system? How can you find it?
(vi) Why do Solids have fixed shape and volume?

FL
(vii) What is Young's Modulus? Show that ¥ = —<

(vii)  Evaporation causes cooling. Why? Explain briefly.

(ix) What is the Anomalous expansion of water?

(x) Why is mercury preferred as thermometric substance?

(xi) Why does sea breeze blow during the day? Explain briefly.

(xii) Why are Styrofoam boxes used to keep food hot for a long time?
(xiiy  Define Unstable Equilibrium.

1

(xiv) A car starts from rest. Its velocity becomes 20ms™ ' in 8 s. Find its acceleration.

(xv) What is the Second condition for Equilibrium?

SECTION — C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a State and explain Newton's law of Gravitation. Calculate the mass of earth by using this law. (06)
b. Prove that 2aS = v} -~v,-2 by graphicai method. (04)
Q.4 a State Pascal's law and explain the working of Hydraulic Press. (06)
b. 50 kg man moved 25 steps up in 20 seconds. Find his power if each step is 16 cm high. (04)
Q5 a Define the Rate of flow of heat through a solid object. Also explain the factors upon which
it depends. (086)
b. How much heat is required to increase the temperature of 0.5 kg of water from 10 °C t065°C 2
(Specific heat of water 4200.J kg™'k™') (04
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Roll No. | I 1 | | I I Answer Sheet No.
75
Sig. of Candidate. Sig. of Invigilator.
PHYSICS SSC-|
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A Is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i) lus=___ s
A, 107° B. 1073 C. 107° D. 10°
{ii) Alberuni measured the circumference of the Earth near in Pakistan.
A Multan B. Kasur C. Bahawalpur D. Pind Dadan Khan

(i)  Velocity of lightin ms™" is

A 3x10* B. 3x10° C. 3x107 D. 3x10°8

(iv) A satellite is revolving around the Earth in a circular orbit. If the radius of the orbit is increased from

R to 2R what will be its velocity?

v v

A 2v B. 2 C. 7.2— D. None of these
(v) What will be the power of a machine doing 100J work in 5 seconds?

A 2 watt B. 10 watt C. 20 watt D. None of these
(vi) The work done by the force applied on the machine is called .

A Effort B. Load C. Input D. Output
(vii) Unit of pressure is .

A Pascal B. Joule C. Newton D. Watt
{vii) A ballis dropped from the top of the tower. The distance covered by it in the first second is

A 5m B. 10m C. 50m D. 100 m
{ix) 100°C = °F

A 32 B. 180 C. 212 D. Zero
x) Co-efficient of linear expansion (a) =

B B

A 35 B. 25 C. —3— D. E
(xi} Unit of mechanical advantage is .

A Newton B. Pascal C. Watt D. None of these
(xii) The formula to find ‘g’ by free fall method is .

A 2 B. 2,1 C. L D. None of these

t2 t? 3272

For Examiner’s use only:

Total Marks: E
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Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:
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PHYSICS SSC-I Oit*
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines.( 11 x3=33)
(i) What is meant by the Significant figures of measurement?

(i) Name any six tools of Physics which are frequently used in the diagnostic techniques of medical science

(i) The mass of a metaliic sphere is 36.9 g and its volume is 3.9 Cm3 . Calcutate its density expressed

in correct number of significant figures.
(iv) What are “Geostationary Satellites”? For which purposes are they used?
(v) Differentiate between Mass and Weight.

(vi) Derive the equation: S =v,f + %al‘2

(vii) In order to push a box of 40 kg mass on the floor, a force of 280 N is required. What will be the
co-efficient of friction existing between the box and the floor?

(viif) Define Surface Tension. What is the effect of temperature on it?

(ix) The x and y-Components of a force vector F are 6N and 8N, respectively. Find its magnitude and

direction.
(x) Write any three objectives of using machines.
{(xi) Why does the climate of coastal areas remain moderate?

(xii) Define Viscosity, Hooke’s law and Pressure.
(xiii)  What is meant by the “Absolute Zero™?
(xiv)  Even a person takes a bucket of water to some distance, his work is zero. Why?

{xv) Define Couple. Give any two examples from daily life.
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q3 a Define Co-efficient of Linear Expansion . Derive the expression L, =L, [1+a(7, - T;)] (5)
b. How much power is used by a 40 kg athlete by climbing 10 m high ladder in 10s7? (3)
Define Unstable Equilibrium. Give one example from daily life. (2)
Q.4 a What is meant by Resolution of Vectors? Resolve a vector T: into its rectangular components
and find their magnitude. 4
b. A car was moving with a velocity of 72 kmh™. it was stopped in 5s by applying brakes. How
much distance was covered by the car before it stopped? 4)
C. When a man is standing on the ground, how much upward force is exerted on him by the Earth?
Why does not this force lift him the Earth upward? (2)
Q5 a What is Lever? State its principle and derive expression for its mechanical advantage. (5)
A ball of mass 200g was thrown vertically up to a height of 15m. Find the change in the
gravitational potential energy of the ball. (3)
c. What is the effect of the following on the gravitational acceleration: (2)

(i) Mass of a freely falling body.
{iii) Distance of freely falling body from the centre of the Earth
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Sig. of Candidate: Sig. of Invigilator:

I-Uw ung_l‘ W‘ (L;QJY)JJJ‘
‘Revised Syllabus) (15: /Jg )il 220 =

LAV S S S SN s S L Sy oL S ol i1 L ot qeth g diilite 29

_4_,-,"’.9624-‘56 s 503 J/L.,.LK:/»;.J 2 Tl 1B f L’Wléé) -'/'.{Jb’
WG VSN Ul L2506 ()

oz otd .37/ B SF
e BT wisae G L (ii)

Ee o Sk b & o £
= St (i)

g - e b A - &
WS d s )

1932 L 1930 _% 1925 oo 1920 -
Gl - FI8) P sl v)

SALG o K. o ) B Sie
e Hg oo Tws (vi)

1830 o 832 % 1838 - 11837
(7 - ASJENF) e dAL U i)

S - (e b r B
Sz ST il wite AT o1 il

JBebast - sl & ﬁ;ﬂ - Gossipt B
i wdeitet, " 2B ()

doot i o A TS Fddy o TTE
c G A o f Bkl FE ()

Wil S o o o
e Ve ifud e BTl ()

Yo ) & & Sy — N |
e e i§ul3 UAE T (i)

S o Sksr 2 e = ey -
et 2 e e a1 e (i)

M b S £

e bl el e 0 Lok (i)

ved -3 S & = Jrig
et i orie S )

S L AR b e M

l:l S /J’ LS Ll

Urdu Compulsory_1 62

—— 1SA 1403 —



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

- oo n) ) (uaJY) 937

(Revised Syllabus)

60 ¢ sl o A & 240
e bSirgs S e 22 36028 e s a2l e S 2 2o 0d
v v - - l 1 r r

_u-é’bz—”g',’/”h_jlﬁ'h:l Llﬁé:h',T

G448 oo
(12x2=24) e b LA (A2 5 i B
ol e S ()
' L Swil e, (i)
byl ez L8 (i)
S‘L_ﬂ/,_.{_fut{fuﬂﬂlﬁdwié_n"; u,ufau’(’f (iv)
e LU UF;(UT W W)
e dTud u)'{u:‘i,i_lﬁ;‘;ugﬂﬂé‘u/’” (vi)
A e P Sus I (i
Gws . Fw) SEHL G (i)
e IS F (i)
(Fisie Aozr - A9 S duisdnl Juie ()
sl Sopl e FENE (i)
efe g FUATE T L2 (xi)
LA s s (il
e L L JF SIS F e TS S DL (i)

(5x2=10) EL by edle ity
ol 0
_E e Jeten e 6 (i)
L el nE S SIS IS e s (il
Eraief? ‘ oL
_E AL e L T ()
EEWI e i (V)
S $&E S stne 12 0 i (V)
SE K eI w T

Urdu Compulsory_1 Page 1 of 2 (Urdu.Com. New) 63



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

2648 proe

1/241/2+1+4=6)
Fo LS s e S B sl b PS5 e SErsi st B s ifi )i
J"QJ‘K;U"(%L:C?"’Z’@[J’LJ';U{’/Jf-ﬂ3J/u:fn;’uf<;_,_lgu9ﬂ,u@/w? Pt S
e S L s OGS ity S HE

_Ji’ft“at'lgp_&vﬁéU{’/uluﬁ}i//&gJl.r’_}ﬁz‘/,lcﬂﬂ?ﬁqwfujé&Ul{uﬂl;né USHSSHUAS
c»g"’éd_;l JJ’&JL'L};’L}&;’!TC}UI ‘uftgm,f/c.J,’,uLﬁJqu,;J"Luuu%/{,fuf’fJi?adfu!
e S eeli§ed LA

(1/2+1/2+2+2=5) ZCES i Pl Sz sot P aip

PPN IEY Y3
c‘:.’ijglgu’u; ‘J;nr'.{;?
Lrute w ot 85
el e erFg ek

(1+2+2=5)

JG) :c,uff(?

o

T

e lzf By« Llouf."/?

g 13wy

?4".. l._f_f’MJ Lﬁu; 1

Sdald « erlusy
Sl AL e 5
Shotohd LA
Zu‘?”x ) E o ‘—flf;'

EEF Gndd L TLnzarire

A S
iy =S¥
F e i S
Vid 2 oA bR

(5) _ ,4%»](,(&,!.b?lﬁ-j.:fa/ﬁdbi.nﬁ’:’lﬁgzbl&.w%_l

W N
_Uﬁjd/ﬁ'{)t_ﬂfﬂf;, u’/fgﬂu)g‘;r{/:) b/fc)_t/né.,ffulﬂ/

{5) . - o -é)CUbIJLTZr!/JLSfu»é_I

- ——1SA 1403 —

Urdu Cc_)mpulsory_l Page 2 of 2 (Urdu-Com. New) R

G L s P L SAF
~dl

- e’
»

Ay

_oﬂulr

_‘!/,/U’y

_L/:}J s

64



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

- o ol (UA 5Y) 9
Old Syllabus) (15:/:};%)‘)5!.70 220 ey

LA b’ﬁij.q.gﬁa]klg{én&uf.‘.&’.&.@QJLW&)?(‘I:UJ{;&‘L’#;IJLz:t,[’l‘ad__‘v&‘;_{o[,b‘!&w_i_wUJ}'LJ‘» Y

e ALz L 050 S tmne fo 5 | Bl 13 (B 5L s Ly
Vigre SFLowL EE 2 0)

oL L T Heap o Py S
Ce bl LTl ve cr L SEKE (i)

o4t U1 - P s o gr -
e QS e (i

FHsmr o U -2 R T
Cabinn /T L& (v)

E R Tt I ORI >3 Y PR
Gl W)

Cedetd o Bt Sl St o bl -
el el £

SIE St e gedemr o gt
A Vg i iy Hhulo! (vii)

-7 - e - e o
el P SRSRIAGILSS (il

G o oo iz e e
WSS dend 2 @

VS T R 4 SO A9 B A A |
Sl Ae AL LA Bl )

gl - A <t I saglly
e Ve ndad BT ()

Y ) ikt i -& 3] FTIE Y 1Zsb i
e e G Ny T (i)

b - VT B L A L
e S el (i

O T A N P

et U E e 2 (xiv)
uLﬂ!fi -3 /:‘.?‘! B J/’r”] —— dfy’r’“i o
P PUTAPEIS M)

Ll AP i Jo

[ ] Dl il e

Urdu Compulsory_1 —_1SA 1403 (Old) —— 65




Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

- o ol usd) (u“ 5Y) 93

(Old Syllabus)

60 v sl P10 /_gf & 2:40 i
Sl d L2 E oy dbde Sl e sdbapl e trgl e Jpt-2e s o 2d
B LnllSlcpz LT

342N o

(12x2=24) e 2nd B plee LLANZ (12heLatinds aur Nt

oL AEIL & L LL S Suns )

gl e e HTFYL (i)

LI AL OF i)

e te oA LA F ()

tE o L\ SIS Lo St )

e eI G iy S 0 ()

VAP e wF Sl ity (i)

e WUBEI L 2 i)

LA LM el el (%)

e Uil dal et P

fe MU S RUAS Brtnonal Ll (x)

e LA LA IS B 2 (i

Sl Dol L HLE L SJASEP (i)

L L IS S AL Uit Qe ) FE (xiV)

(5x2=10) ESn bl M tdive -
FE P Elhert T Sule ()
40 . oy o i

- 1 N E N

S o EG L SIS SO e i ()
2 S P T

i e ertan P )

U S

(267 J’ ) (roo
(1/2+1/2+1+4=6) E Okl L Tensif F Lt ol

JL?-W@»UL'JQLU:G’J_,L“:‘:-W};;g}kjwa?&éug{ AT AT 3§.1xﬁ’f »
Lo 3 QA Gul TP o rlbe 33Udn e fniifimt it
_--UIJLLf-u?"fuzi};,,pé,,,y_{,’/,,(,;_LL?L;-L’/A?&';”J

Urdu Compulsory_1 Page 1 of 2 (Urdu Comp Qld) 66



Visit TopStudyWorld.Com

to Get Great Marks in SSC, HSSC and Entry Tests

e o A2 Lo L e o a5 B DL U JFLLG L sl e
Gy PS o lolip i iy SBEIG LR b S1 By Th o Loty L S
4 a—UJﬁlﬁ”/(f-& £} ‘{f/’uf G}ud/ﬁd:#;dvi (s ‘5-03 S bart e it 55
PPl Uiz st s ES S bdrar S P Ly i i o Fate ks
am B s o il $alit 38 A L S e U L

(1/241/2+2+2=5)
= {_/-f uk;...?’/-rjﬂ
" L/‘J’,gtmi g.lafi'a{
o 8 o § ¢

il S bl bio oy =l

(1+2+2=5)
£ e 30 2 e UVL s J)

S E s
u’-J‘Lg uluf."fufc_u;‘/ul
£ oabss & o £ G

(5)

(5)

E e F S nz_sip¥ F e
- G o e Ul z
Uil UL s u"ﬁ »
Seolnic o i§ 2 Us &

Uikl L U b O 2

Z 65 H2dP L Snz e
- B K o iR L

dﬁ’} ¢I<*_— el §F S fuj e
L Bigu=isiud, Sy
HAEF o s

_J"/C/fbgg;{f-'gﬁw‘L){’%l

-é{f:jb..g{&rz’rﬁ “ ;:’3;5}4&  endl s
(Y

G bR el o Ue e sHI UGN S s

ijﬁj;’ﬂ;,,)e(}LL;JJJ(JJFJJU;I%V/L,VVLLz;'»/f'%_bl/éﬁca .:..&’D)‘Lrﬂ)}gé-;‘b"%ﬂug

St S st L 55 22

a;-{.(}'“‘)(;/'a.:élil’ 2 a..[ﬁ/%.@cn?ut.z}gfug}@

T n&/-:fdi'm{_l:w;@nu_L“.C{_.;uﬁngi;@JJ&:»/?}.CC%?Z;_MM,_B%J.:{?

Urdu Compulsory_1

e Ui F S 2 oS
Yl

e /M ulivd Lo BB icoly i

et bl

et/ AIAEE Sy
e bnkicibgd o

e

—--1SA 1403——

Page 2 of 2 (Urdu.Comp Old)

N/

..A/:}Jb

A

A

67



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 1
	Page 2
	Page 3
	Page 4
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

